Base Line	e Item Deta	il			C. Abbonizio C	Contractors Inc.	Agate Constru	ction Co., Inc.		c and B. Anthony Corp JV	D'Annunzio	& Sons, Inc.	Vollers Exca Construc	-	Joseph Defino T	Frucking Co, Inc	Caruso	Excavating
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	1D01LAY	1	L.S.	Construction Layout	\$42,000.00	\$42,000.00	\$70,000.00	\$70,000.00	\$120,000.00	\$120,000.00	\$336,319.45	\$336,319.45	\$225,000.00	\$225,000.00	\$300,000.00	\$300,000.00	\$190,184.60	\$190,184.60
2	1D10MOB	1	L.S.	Mobilization	\$330,000.00	\$330,000.00	\$350,000.00	\$350,000.00	\$400,000.00	\$400,000.00	\$430,000.00	\$430,000.00	\$337,951.84	\$337,951.84	\$1,250,000.00	\$1,250,000.00	\$660,000.00	\$660,000.00
3	N1D0001	1	L.S.	As-Built Survey	\$5,350.00	\$5,350.00	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00	\$20,000.00	\$20,000.00	\$18,000.00	\$18,000.00	\$50,000.00	\$50,000.00	\$15,000.00	\$15,000.00
4	1G01SCH	1	L.S.	Progress Schedule	\$18,000.00	\$18,000.00	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00	\$16,600.00	\$16,600.00	\$75,000.00	\$75,000.00	\$30,000.00	\$30,000.00
-	10010011	'	L.O.	1 Togress ochedule	\$10,000.00	\$10,000.00	ψ3,000.00	ψ5,000.00	φ10,000.00	φ10,000.00	Ψ20,000.00	Ψ20,000.00	ψ10,000.00	ψ10,000.00	ψ1 3,000.00	ψ1 3,000.00	ψ30,000.00	ψ30,000.00
5	1HFP005	1	L.S.	Fuel Price Adjustment (This is a NO BID, Lump Sum item for this contract. The Lump Sum price is \$5,000. Enter a Unit Price of \$5,000 as your bid item for this item.)	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
6	2A01CAG	139	Acre	Clearing and Grubbing	\$2,200.00	\$305,800.00	\$1,000.00	\$139,000.00	\$1,800.00	\$250,200.00	\$1,500.00	\$208,500.00	\$3,500.00	\$486,500.00	\$500.00	\$69,500.00	\$4,000.00	\$556,000.00
7	2B04REX	65,120.00	C.Y.	Roadway Excavation and Embankment	\$8.00	\$520,960.00	\$9.00	\$586,080.00	\$8.50	\$553,520.00	\$15.00	\$976,800.00	\$19.00	\$1,237,280.00	\$11.00	\$716,320.00	\$40.00	\$2,604,800.00
8	2B15STS	108,788.00	C.Y.	Stripping Topsoil	\$4.00	\$435,152.00	\$0.01	\$1,087.88	\$5.50	\$598,334.00	\$4.00	\$435,152.00	\$9.00	\$979,092.00	\$11.00	\$1,196,668.00	\$3.30	\$359,000.40
9	N2B0002	1	L.S.	Dewatering	\$4,300.00	\$4,300.00	\$1,637,000.00	\$1,637,000.00	\$20,000.00	\$20,000.00	\$25,000.00	\$25,000.00	\$100,000.00	\$100,000.00	\$50,000.00	\$50,000.00	\$20,000.00	\$20,000.00
10	2M00020	2,100.00	C.Y.	Debris Removal and Disposal, ID- 13 Material	\$110.00	\$231,000.00	\$100.00	\$210,000.00	\$160.00	\$336,000.00	\$120.00	\$252,000.00	\$135.00	\$283,500.00	\$210.00	\$441,000.00	\$160.00	\$336,000.00
11	2M00021	1,700.00	C.Y.	Debris Removal and Disposal, ID- 27 Material	\$98.00	\$166,600.00	\$100.00	\$170,000.00	\$70.00	\$119,000.00	\$45.00	\$76,500.00	\$95.00	\$161,500.00	\$210.00	\$357,000.00	\$100.00	\$170,000.00
12	2G00046	2,372.00	C.Y.	Stone for Grade Control Structure	\$75.00	\$177,900.00	\$70.00	\$166,040.00	\$60.00	\$142,320.00	\$75.00	\$177,900.00	\$110.00	\$260,920.00	\$70.00	\$166,040.00	\$90.00	\$213,480.00
13	2C14EMB	1,863.00	S.Y.	Geotextile Filter Fabric	\$1.00	\$1,863.00	\$2.00	\$3,726.00	\$5.00	\$9,315.00	\$2.00	\$3,726.00	\$1.75	\$3,260.25	\$3.20	\$5,961.60	\$3.00	\$5,589.00
14	2H30TEC	2,619.00	L.F.	Silt Fence	\$5.00	\$13,095.00	\$2.60	\$6,809.40	\$5.00	\$13,095.00	\$3.00	\$7,857.00	\$2.00	\$5,238.00	\$3.65	\$9,559.35	\$3.00	\$7,857.00
15	2H00007	18,142.00	L.F.	Heavy Duty Silt Fence, Black	\$6.00	\$108,852.00	\$7.00	\$126,994.00	\$7.00	\$126,994.00	\$5.00	\$90,710.00	\$8.75	\$158,742.50	\$4.00	\$72,568.00	\$11.00	\$199,562.00
16 17	2H21TEC N2C0017	105 222	Ton S.Y.	Temporary Stone, Grade B Filter Fabric	\$70.00 \$1.00	\$7,350.00 \$222.00	\$50.00 \$1.00	\$5,250.00 \$222.00	\$50.00 \$3.00	\$5,250.00 \$666.00	\$40.00 \$2.00	\$4,200.00 \$444.00	\$52.00 \$2.50	\$5,460.00 \$555.00	\$65.00 \$3.30	\$6,825.00 \$732.60	\$45.00 \$3.00	\$4,725.00 \$666.00
18	2H25TEC	1,226.00	C.Y.	Hay Bales	\$50.00	\$61,300.00	\$60.00	\$73,560.00	\$160.00	\$196,160.00	\$60.00	\$73,560.00	\$35.00	\$42,910.00	\$40.00	\$49,040.00	\$50.00	\$61,300.00
19	2H35TEC	78	L.F.	Floating Turbidity Barriers	\$42.00	\$3,276.00	\$20.00	\$1,560.00	\$25.00	\$1,950.00	\$120.00	\$9,360.00	\$32.00	\$2,496.00	\$75.00	\$5,850.00	\$60.00	\$4,680.00
20	2H00020	1,336.00	L.F.	Timber Construction Mats	\$110.00	\$146,960.00	\$1.00	\$1,336.00	\$160.00	\$213,760.00	\$160.00	\$213,760.00	\$95.00	\$126,920.00	\$135.00	\$180,360.00	\$375.00	\$501,000.00
21	2K01TPF	10,872.00	L.F.	Temporary Orange Plastic Fence	\$2.50	\$27,180.00	\$2.60	\$28,267.20	\$4.00	\$43,488.00	\$3.00	\$32,616.00	\$2.00	\$21,744.00	\$4.30	\$46,749.60	\$4.00	\$43,488.00
22	2M00006	100	C.Y.	Excavation, Acid Producing Soils	\$11.00	\$1,100.00	\$0.01	\$1.00	\$40.00	\$4,000.00	\$100.00	\$10,000.00	\$35.00	\$3,500.00	\$50.00	\$5,000.00	\$25.00	\$2,500.00
23	2M00007	18,225.00	S.Y.	Acid-Producing Soils Remediation	\$2.00	\$36,450.00	\$0.25	\$4,556.25	\$0.15	\$2,733.75	\$2.00	\$36,450.00	\$2.50	\$45,562.50	\$4.50	\$82,012.50	\$4.00	\$72,900.00
24	2M00009	10	Each	Testing for Acid Producing Soil Deposits	\$250.00	\$2,500.00	\$25.00	\$250.00	\$500.00	\$5,000.00	\$150.00	\$1,500.00	\$600.00	\$6,000.00	\$300.00	\$3,000.00	\$500.00	\$5,000.00
25	2A06CAG	14	Each	Sealing of Abandoned Well	\$540.00	\$7,560.00	\$400.00	\$5,600.00	\$1,000.00	\$14,000.00	\$800.00	\$11,200.00	\$1,250.00	\$17,500.00	\$2,500.00	\$35,000.00	\$1,500.00	\$21,000.00
26	N2C0013	53	L.F.	Groundwater Observation Wells	\$360.00	\$19,080.00	\$338.00	\$17,914.00	\$800.00	\$42,400.00	\$300.00	\$15,900.00	\$100.00	\$5,300.00	\$500.00	\$26,500.00	\$475.00	\$25,175.00
27	2000006	14	Each	Tile Drain Plugging	\$780.00	\$10,920.00	\$300.00	\$4,200.00	\$400.00	\$5,600.00	\$1,200.00	\$16,800.00	\$250.00	\$3,500.00	\$500.00	\$7,000.00	\$1,000.00	\$14,000.00
28	2000007	1,462.00	L.F.	Tile Drain Exploration	\$12.00	\$17,544.00	\$8.00	\$11,696.00	\$6.00	\$8,772.00	\$10.00	\$14,620.00	\$15.00	\$21,930.00	\$10.00	\$14,620.00	\$15.00	\$21,930.00
29	N510003	32	S.F.	Signs	\$40.00	\$1,280.00	\$25.00	\$800.00	\$50.00	\$1,600.00	\$80.00	\$2,560.00	\$60.00	\$1,920.00	\$50.00	\$1,600.00	\$75.00	\$2,400.00
30	5K00041	22,670.00	L.F.	Deer Fence	\$13.00	\$294,710.00	\$12.40	\$281,108.00	\$10.00	\$226,700.00	\$19.00	\$430,730.00	\$19.50	\$442,065.00	\$15.00	\$340,050.00	\$23.00	\$521,410.00
31	5L01MON	3	Each	Concrete Monuments	\$535.00	\$1,605.00	\$2,000.00	\$6,000.00	\$1,000.00	\$3,000.00	\$1,000.00	\$3,000.00	\$500.00	\$1,500.00	\$1,000.00	\$3,000.00	\$500.00	\$1,500.00
32	5Q01FOA	1	Unit	Furnish Field Office, Type A	\$57,000.00	\$57,000.00	\$25,000.00	\$25,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$40,000.00	\$40,000.00	\$55,000.00	\$55,000.00	\$30,000.00	\$30,000.00
33	5Q02MFA	10	Month	Maintain Field Office, Type A	\$750.00	\$7,500.00	\$2,500.00	\$25,000.00	\$1,500.00	\$15,000.00	\$3,000.00	\$30,000.00	\$1,400.00	\$14,000.00	\$2,200.00	\$22,000.00	\$2,500.00	\$25,000.00
34	7C01TOP	652,729.00	S.Y.	Topsoil Sooding Type Upland Habitat	\$0.85 \$0.87	\$554,819.65 \$250,126,80	\$0.01 \$0.86	\$6,527.29		\$979,093.50 \$253.160.05	\$1.30 \$0.85	\$848,547.70 \$253,160.05	\$2.00 \$0.90	\$1,305,458.00	\$2.40 \$1.40	\$1,566,549.60 \$416,085,80	\$0.10	\$65,272.90 \$268,062.30
35	N7D0002	297,847.00	5.Y.	Seeding, Type Upland Habitat	\$0.87	\$259,126.89	\$0.86	\$256,148.42	\$0.85	\$253,169.95	\$0.85	\$253,169.95	\$0.90	\$268,062.30	\$1.40	\$416,985.80	\$0.90	\$268,062.

Base Lin	e Item Deta	ail			C. Abbonizio C	ontractors Inc.	Agate Construc	ction Co., Inc.		c and B. Anthony Corp JV	D'Annunzio	& Sons, Inc.	Vollers Exc	9	Joseph Defino T	rucking Co, Inc	Caruso I	Excavating
36	N7D0003	311,037.00 S.	S.Y.	Seeding, Type Upland Stabilization	\$0.40	\$124,414.80	\$0.38	\$118,194.06	\$0.35	\$108,862.95	\$0.40	\$124,414.80	\$0.90	\$279,933.30	\$1.05	\$326,588.85	\$0.90	\$279,933.30
37	7D22SED	381,456.00 S.	S.Y.	Seeding, Type Wetland	\$0.77	\$293,721.12	\$0.77	\$293,721.12	\$0.75	\$286,092.00	\$0.75	\$286,092.00	\$0.90	\$343,310.40	\$1.40	\$534,038.40	\$1.25	\$476,820.00
38	7D23SED	30,603.00 S	S.Y.	Seeding, Vernal Breeding Pools	\$0.72	\$22,034.16	\$0.71	\$21,728.13	\$0.70	\$21,422.10	\$0.70	\$21,422.10	\$0.85	\$26,012.55	\$1.40	\$42,844.20	\$0.90	\$27,542.70
39	7D24SED	12,394.00 S.	S.Y.	Seeding, Ditch Stabilization	\$5.70	\$70,645.80	\$5.65	\$70,026.10	\$4.00	\$49,576.00	\$5.50	\$68,167.00	\$0.85	\$10,534.90	\$4.60	\$57,012.40	\$4.50	\$55,773.00
40	7D25SED	374 S.	5.Y.	Seeding, Roadway Right-of-way	\$0.40	\$149.60	\$0.38	\$142.12	\$0.75	\$280.50	\$1.00	\$374.00	\$0.85	\$317.90	\$1.20	\$448.80	\$0.85	\$317.90
41	N7E0006	125 Ea	ach	Planting, Buttonbush (Cephalanthus Occidentalis)	\$18.20	\$2,275.00	\$18.50	\$2,312.50	\$18.00	\$2,250.00	\$18.00	\$2,250.00	\$19.00	\$2,375.00	\$19.37	\$2,421.25	\$35.00	\$4,375.00
42	7.00E+16	1,502.00 Ea	ach	Planting, Buttonbush (Cephalanthus Occidentalis), Bareroot	\$4.00	\$6,008.00	\$4.13	\$6,203.26	\$4.00	\$6,008.00	\$4.00	\$6,008.00	\$15.00	\$22,530.00	\$5.70	\$8,561.40	\$17.00	\$25,534.00
43	7.00E+17	681 Ea	ach	Planting, Silky Dogwood (Cornus Amomum)	\$19.00	\$12,939.00	\$18.50	\$12,598.50	\$18.00	\$12,258.00	\$18.00	\$12,258.00	\$17.00	\$11,577.00	\$19.70	\$13,415.70	\$35.00	\$23,835.00
44	7.00E+18	6,841.00 Ea	ach	Planting, Silky Dogwood (Cornus Amomum), Bareroot	\$4.00	\$27,364.00	\$4.13	\$28,253.33	\$4.00	\$27,364.00	\$4.00	\$27,364.00	\$3.50	\$23,943.50	\$5.30	\$36,257.30	\$17.00	\$116,297.00
45	N7E0008	242 Ea	ach	Planting, Winterberry Holly (Ilex Verticillata)	\$18.20	\$4,404.40	\$18.50	\$4,477.00	\$18.00	\$4,356.00	\$18.00	\$4,356.00	\$19.00	\$4,598.00	\$19.70	\$4,767.40	\$35.00	\$8,470.00
46	7.00E+19	2,555.00 Ea	ach	Planting, Winterberry Holly (Ilex Verticillata), Bareroot	\$5.40	\$13,797.00	\$5.44	\$13,899.20	\$5.00	\$12,775.00	\$6.00	\$15,330.00	\$4.00	\$10,220.00	\$6.25	\$15,968.75	\$17.00	\$43,435.00
47	N7E0032	42 Fa	ach	Planting, Sweetbay Magnolia	\$23.50	\$987.00	\$23.94	\$1,005.48	\$24.00	\$1,008.00	\$23.00	\$966.00	\$34.00	\$1,428.00	\$19.70	\$827.40	\$35.00	\$1,470.00
48	N7E0013			(Magnolia Virginiana) Planting, Highbush Blueberry	\$20.00	\$840.00	\$19.58	\$822.36	\$20.00	\$840.00	\$19.00	\$798.00	\$18.00	\$756.00	\$19.70	\$827.40	\$20.00	\$840.00
40	147 200 13	42 Lo		(Vaccinium Corymbosum)	Ψ20.00	ψ040.00	ψ19.50	Ψ022.30	Ψ20.00	ψ040.00	Ψ19.00	Ψ1 90.00	Ψ10.00	Ψ730.00	ψ19.70	φ021.40	Ψ20.00	ψ040.00
49	7.00E+20	742 Ea	ach	Planting, Pickerelweed (Pontederia Cordata), 2-inch plug Planting, Arrowhead/ Duck	\$5.00	\$3,710.00	\$4.79	\$3,554.18	\$5.00	\$3,710.00	\$5.00	\$3,710.00	\$3.25	\$2,411.50	\$4.40	\$3,264.80	\$6.00	\$4,452.00
50	7.00E+21	1,483.00 Ea	ach	Potatoe (Saggitaria Latfolia), 2-inch plug	\$5.00	\$7,415.00	\$4.79	\$7,103.57	\$5.00	\$7,415.00	\$5.00	\$7,415.00	\$2.80	\$4,152.40	\$4.40	\$6,525.20	\$6.00	\$8,898.00
51	7.00E+22	4,450.00 Ea	ach	Planting, Giant Burreed (Sparganium Eurycarpum), 2-inch plug	\$5.00	\$22,250.00	\$4.79	\$21,315.50	\$5.00	\$22,250.00	\$5.00	\$22,250.00	\$3.50	\$15,575.00	\$4.40	\$19,580.00	\$6.00	\$26,700.00
52	7.00E+23	4,450.00 Ea	ach	Planting, Softstem Bulrush (Scirpus Tabernaemontani), 2- inch plug	\$5.00	\$22,250.00	\$4.79	\$21,315.50	\$5.00	\$22,250.00	\$5.00	\$22,250.00	\$3.50	\$15,575.00	\$4.40	\$19,580.00	\$6.00	\$26,700.00
53	7.00E+24	742 Ea	ach	Planting, Sweetflag (Acorus Calamus), 2-inch plug	\$5.00	\$3,710.00	\$4.79	\$3,554.18	\$5.00	\$3,710.00	\$5.00	\$3,710.00	\$3.50	\$2,597.00	\$4.40	\$3,264.80	\$6.00	\$4,452.00
54	7.00E+25	742 Ea	ach	Planting, Blue Flag Iris (Iris Versicolor), 2-inch plug	\$5.00	\$3,710.00	\$4.79	\$3,554.18	\$5.00	\$3,710.00	\$5.00	\$3,710.00	\$4.00	\$2,968.00	\$4.40	\$3,264.80	\$6.00	\$4,452.00
55	7.00E+26	2,225.00 Ea	ach	Planting, Shallow Sedge (Carex Lurida), 2-inch plug	\$5.00	\$11,125.00	\$4.79	\$10,657.75	\$5.00	\$11,125.00	\$5.00	\$11,125.00	\$4.00	\$8,900.00	\$4.40	\$9,790.00	\$6.00	\$13,350.00
56	7.00E+27	1,483.00 Ea	ach	Planting, Fringed Sedge (Carex Crinita), 2-inch plug	\$5.00	\$7,415.00	\$4.79	\$7,103.57	\$5.00	\$7,415.00	\$5.00	\$7,415.00	\$4.00	\$5,932.00	\$4.40	\$6,525.20	\$6.00	\$8,898.00
57	7.00E+28	2,225.00 Ea	ach	Planting, Arrow Arum (Peltandra Virginica), 2-inch plug	\$5.00	\$11,125.00	\$4.79	\$10,657.75	\$5.00	\$11,125.00	\$5.00	\$11,125.00	\$4.00	\$8,900.00	\$4.40	\$9,790.00	\$6.00	\$13,350.00
58	7.00E+29	3,709.00 Ea	ach	Planting, Spadderdock (Nuphar Lutea), 2-inch plug	\$6.00	\$22,254.00	\$6.09	\$22,587.81	\$6.00	\$22,254.00	\$6.00	\$22,254.00	\$5.00	\$18,545.00	\$4.40	\$16,319.60	\$6.00	\$22,254.00
59	7.00E+30	1,969.00 Ea	ach	Planting, Oak Species (Quercus Spp.)	\$23.50	\$46,271.50	\$23.94	\$47,137.86	\$24.00	\$47,256.00	\$23.00	\$45,287.00	\$33.00	\$64,977.00	\$36.20	\$71,277.80	\$53.00	\$104,357.00
60	7.00E+31	17,724.00 Ea	acn i	Planting, Oak Species (Quercus Spp.), Bareroot	\$4.30	\$76,213.20	\$4.35	\$77,099.40	\$4.00	\$70,896.00	\$4.50	\$79,758.00	\$6.00	\$106,344.00	\$5.30	\$93,937.20	\$17.00	\$301,308.00
61	N7E0079	492 Ea		Planting, Pitch Pine (Pinus Rigida)	\$23.50	\$11,562.00	\$23.94	\$11,778.48	\$24.00	\$11,808.00	\$23.00	\$11,316.00	\$34.00	\$16,728.00	\$36.20	\$17,810.40	\$53.00	\$26,076.00
62	7.00E+32	8,862.00 Ea		Planting, Pitch Pine (Pinus	\$4.30	\$38,106.60	\$4.35	\$38,549.70	\$4.00	\$35,448.00	\$4.50	\$39,879.00	\$6.00	\$53,172.00	\$5.80	\$51,399.60	\$17.00	\$150,654.00
63	N7E0044			Rigida), Bareroot Planting, Sassafras (Sassafras	\$21.50	\$5,289.00	\$21.76	\$5,352.96	\$22.00	\$5,412.00	\$21.00	\$5,166.00	\$9.00	\$2,214.00	\$36.20	\$8,905.20	\$53.00	\$13,038.00
64	N7E0031			Albidum) Planting, Red Cedar (Juniperis	\$21.50	\$5,289.00	\$21.76	\$5,352.96	\$22.00	\$5,412.00	\$21.00	\$5,166.00	\$34.00	\$8,364.00	\$36.20	\$8,905.20	\$53.00	\$13,038.00
65	7.00E+33			Virginiana) Planting, Yellow Poplar (Liriodendron Tulipifera)	\$23.50	\$11,562.00	\$23.94	\$11,778.48	\$24.00	\$11,808.00	\$23.00	\$11,316.00	\$33.00	\$16,236.00		\$17,810.40	\$53.00	\$26,076.00
66	7.00E+34	4,431.00 Ea	ach	Planting, Yellow Poplar (Liriodendron Tulipifera), Bareroot	\$4.00	\$17,724.00	\$4.13	\$18,300.03	\$4.00	\$17,724.00	\$4.00	\$17,724.00	\$6.00	\$26,586.00	\$5.40	\$23,927.40	\$17.00	\$75,327.00
67	N7E0067	492 Ea		Planting, Hackleberry (Celtis Occidentiis)	\$23.50	\$11,562.00	\$23.94	\$11,778.48	\$24.00	\$11,808.00	\$23.00	\$11,316.00	\$34.00	\$16,728.00	\$36.20	\$17,810.40	\$53.00	\$26,076.00
68	7.00E+35	4,431.00 Ea		Planting, Hackberry (Celtic Occidentalis), Bareroot	\$5.40	\$23,927.40	\$5.44	\$24,104.64	\$5.00	\$22,155.00	\$6.00	\$26,586.00	\$6.00	\$26,586.00	\$5.70	\$25,256.70	\$7.25	\$32,124.75
69	N7E0025	881 Ea		Planting, Sweetgum (Liquidambar	\$23.50	\$20,703.50	\$23.94	\$21,091.14	\$24.00	\$21,144.00	\$23.00	\$20,263.00	\$34.00	\$29,954.00	\$36.20	\$31,892.20	\$53.00	\$46,693.00
70	7.00E+36			Styraciflua) Planting, Sweetgum (Liquidambar Styraciflua), Bareroot	\$4.00	\$40,580.00	\$4.13	\$41,898.85	\$4.00	\$40,580.00	\$4.00	\$40,580.00	\$7.85	\$79,638.25	,	\$57,826.50	\$7.25	\$73,551.25
71	7.00E+37	492 Ea	ach	Planting, Persimmon (Diospyros Virginiana)	\$23.50	\$11,562.00	\$23.94	\$11,778.48	\$24.00	\$11,808.00	\$23.00	\$11,316.00	\$33.00	\$16,236.00	\$35.65	\$17,539.80	\$53.00	\$26,076.00
72	7.00E+38	4,431.00 Ea	ach	Planting, Persimmon (Diospyros Virginiana), Bareroot	\$4.00	\$17,724.00	\$4.13	\$18,300.03	\$4.00	\$17,724.00	\$4.00	\$17,724.00	\$6.00	\$26,586.00	\$5.45	\$24,148.95	\$17.00	\$75,327.00

Base Line	e Item Deta	il			C. Abbonizio C	Contractors Inc.	Agate Constru	ction Co., Inc.	A. Servidone Inc Const (c and B. Anthony Corp JV	D'Annunzio	& Sons, Inc.	Vollers Exca Construct	-	Joseph Defino	Frucking Co, Inc	Caruso	Excavating
73	N7E0036	492	Each	Planting, Black Cherry (Prunus Seratina)	\$23.50	\$11,562.00	\$23.94	\$11,778.48	\$24.00	\$11,808.00	\$23.00	\$11,316.00	\$34.00	\$16,728.00	\$19.70	\$9,692.40	\$35.00	\$17,220.00
74	7.00E+39	4,431.00	Each	Planting, Black Cherry (Prunus Serotina), Bareroot	\$4.00	\$17,724.00	\$4.13	\$18,300.03	\$4.00	\$17,724.00	\$4.00	\$17,724.00	\$6.00	\$26,586.00	\$5.45	\$24,148.95	\$17.00	\$75,327.00
75	N7E0003	369	Each	Planting, Black Chokeberry (Aronia Melanocarpa)	\$18.20	\$6,715.80	\$18.50	\$6,826.50	\$18.00	\$6,642.00	\$18.00	\$6,642.00	\$19.00	\$7,011.00	\$19.70	\$7,269.30	\$35.00	\$12,915.00
76	7.00E+40	3,323.00	Each	Planting, Black Chokeberry (Aronia Melanocarpa), Bareroot	\$4.00	\$13,292.00	\$4.13	\$13,723.99	\$4.00	\$13,292.00	\$4.00	\$13,292.00	\$6.00	\$19,938.00	\$5.45	\$18,110.35	\$17.00	\$56,491.00
77	7.00E+41	492	Each	Planting, Bayberry (Morella Pennsylvanica)	\$18.20	\$8,954.40	\$18.50	\$9,102.00	\$18.00	\$8,856.00	\$18.00	\$8,856.00	\$18.00	\$8,856.00	\$19.70	\$9,692.40	\$7.25	\$3,567.00
78	7.00E+42	4,431.00	Each	Planting, Bayberry (Morella Pennsylvanica), Bareroot	\$5.40	\$23,927.40	\$5.44	\$24,104.64	\$5.50	\$24,370.50	\$6.00	\$26,586.00	\$6.00	\$26,586.00	\$5.45	\$24,148.95	\$17.00	\$75,327.00
79	N7E0021	369	Each	Planting, Shadbush Serviceberry (Amelanchier Canadensis)	\$23.50	\$8,671.50	\$23.94	\$8,833.86	\$24.00	\$8,856.00	\$23.00	\$8,487.00	\$34.00	\$12,546.00	\$19.70	\$7,269.30	\$35.00	\$12,915.00
80	7.00E+43	3,323.00	Each	Planting, Shadbush Serviceberry (Amelanchier Canadensis), Bareroot	\$4.00	\$13,292.00	\$4.13	\$13,723.99	\$4.00	\$13,292.00	\$4.00	\$13,292.00	\$6.00	\$19,938.00	\$5.70	\$18,941.10	\$17.00	\$56,491.00
81	N7E0028	952	Each	Planting, Pin Oak (Quercus Palustris)	\$23.50	\$22,372.00	\$23.94	\$22,790.88	\$24.00	\$22,848.00	\$23.00	\$21,896.00	\$34.00	\$32,368.00	\$36.20	\$34,462.40	\$53.00	\$50,456.00
82	7.00E+44	14,285.00	Each	Planting, Pin Oak (Quercus Palustris), Bareroot	\$4.30	\$61,425.50	\$4.35	\$62,139.75	\$4.00	\$57,140.00	\$4.50	\$64,282.50	\$6.00	\$85,710.00	\$5.45	\$77,853.25	\$17.00	\$242,845.00
83	7.00E+45	952	Each	Planting, Willow Oak (Quercus Phellos)	\$23.50	\$22,372.00	\$23.94	\$22,790.88	\$24.00	\$22,848.00	\$23.00	\$21,896.00	\$52.00	\$49,504.00	\$36.20	\$34,462.40	\$53.00	\$50,456.00
84	7.00E+46	2,857.00	Each	Planting, Willow Oak (Quercus Phellos), Bareroot	\$4.30	\$12,285.10	\$4.35	\$12,427.95	\$4.00	\$11,428.00	\$4.50	\$12,856.50	\$34.00	\$97,138.00	\$5.40	\$15,427.80	\$17.00	\$48,569.00
85	N7E0027	635	Each	Planting, Swamp White Oak (Quercus Bicolor)	\$23.50	\$14,922.50	\$23.94	\$15,201.90	\$24.00	\$15,240.00	\$23.00	\$14,605.00	\$34.00	\$21,590.00	\$36.20	\$22,987.00	\$53.00	\$33,655.00
86	7.00E+47	5,714.00	Each	Planting, Swamp White Oak (Quercus Bicolor), Bareroot	\$4.30	\$24,570.20	\$4.35	\$24,855.90	\$4.00	\$22,856.00	\$4.50	\$25,713.00	\$6.00	\$34,284.00	\$5.60	\$31,998.40	\$17.00	\$97,138.00
87	7.00E+09	1,270.00	Each	Planting, River Birch (Betula Nigra)	\$23.50	\$29,845.00	\$23.94	\$30,403.80	\$24.00	\$30,480.00	\$23.00	\$29,210.00	\$26.50	\$33,655.00	\$36.20	\$45,974.00	\$53.00	\$67,310.00
88	7.00E+48	11,428.00	Each	Planting, River Birch (Betula Nigra), Bareroot	\$5.40	\$61,711.20	\$5.44	\$62,168.32	\$5.50	\$62,854.00	\$5.50	\$62,854.00	\$6.00	\$68,568.00	\$5.30	\$60,568.40	\$17.00	\$194,276.00
89	N7E0042	635	Each	Planting, Red Maple (Acer Rubrum)	\$23.50	\$14,922.50	\$23.94	\$15,201.90	\$24.00	\$15,240.00	\$23.00	\$14,605.00	\$34.00	\$21,590.00	\$36.20	\$22,987.00	\$53.00	\$33,655.00
90	7.00E+49	5,714.00	Each	Planting, Red Maple (Acer Rubrum), Bareroot	\$4.00	\$22,856.00	\$4.13	\$23,598.82	\$4.00	\$22,856.00	\$4.00	\$22,856.00	\$6.00	\$34,284.00	\$5.25	\$29,998.50	\$17.00	\$97,138.00
91	N7E0024	317	Each	Planting, Green Ash (Fraxinus Pennsylvanica)	\$23.50	\$7,449.50	\$23.94	\$7,588.98	\$24.00	\$7,608.00	\$23.00	\$7,291.00	\$34.00	\$10,778.00	\$36.20	\$11,475.40	\$53.00	\$16,801.00
92	7.00E+50	5,714.00	Each	Planting, Green Ash (Fraxinus Pennsylvanica), Bareroot	\$4.00	\$22,856.00	\$4.13	\$23,598.82	\$4.00	\$22,856.00	\$4.00	\$22,856.00	\$6.00	\$34,284.00	\$5.70	\$32,569.80	\$17.00	\$97,138.00
93	N7E0026	317	Each	Planting, Black Gum (Nyssa Sylvatica)	\$23.50	\$7,449.50	\$23.94	\$7,588.98	\$24.00	\$7,608.00	\$23.00	\$7,291.00	\$34.00	\$10,778.00	\$36.20	\$11,475.40	\$53.00	\$16,801.00
94	7.00E+51	635	Each	Planting, Sycamore (Platanus Occidentalis)	\$23.50	\$14,922.50	\$23.94	\$15,201.90	\$24.00	\$15,240.00	\$23.00	\$14,605.00	\$8.00	\$5,080.00	\$36.20	\$22,987.00	\$53.00	\$33,655.00
95	7.00E+52	5,714.00	Each	Planting, Sycamore (Platanus Occidentalis), Bareroot	\$4.00	\$22,856.00	\$4.13	\$23,598.82	\$4.00	\$22,856.00	\$4.00	\$22,856.00	\$8.00	\$45,712.00	\$5.45	\$31,141.30	\$17.00	\$97,138.00
96	7.00E+01	317	Each	Planting, Atlantic White Cedar (Chamaecyparis Thyoides)	\$23.50	\$7,449.50	\$23.94	\$7,588.98	\$24.00	\$7,608.00	\$23.00	\$7,291.00	\$26.50	\$8,400.50	\$36.20	\$11,475.40	\$53.00	\$16,801.00
97	N7E0005	159	Each	Planting, Summersweet (Clethra Alnifolia)	\$18.20	\$2,893.80	\$18.50	\$2,941.50	\$18.00	\$2,862.00	\$18.00	\$2,862.00	\$19.00	\$3,021.00	\$19.70	\$3,132.30	\$35.00	\$5,565.00
98	N7E0012	159	Each	Planting, Elderberry (Sambucus Canadensis)	\$18.20	\$2,893.80	\$18.50	\$2,941.50	\$18.00	\$2,862.00	\$18.00	\$2,862.00	\$19.00	\$3,021.00	\$19.70	\$3,132.30	\$35.00	\$5,565.00
99	7.00E+53	1,428.00	Each	Planting, Elderberry (Sambucus Canadensis), Bareroot	\$4.00	\$5,712.00	\$4.13	\$5,897.64	\$4.00	\$5,712.00	\$4.00	\$5,712.00	\$8.00	\$11,424.00	\$5.45	\$7,782.60	\$17.00	\$24,276.00
100	7.00E+54	159	Each	Planting, Red Chokeberry (Aronia Arbutifolia)	\$18.20	\$2,893.80	\$18.50	\$2,941.50	\$18.00	\$2,862.00	\$18.00	\$2,862.00	\$18.00	\$2,862.00	\$19.70	\$3,132.30	\$35.00	\$5,565.00
101	7.00E+55	1,428.00	Each	Planting, Red Chokeberry (Aronia Arbutifolia), Bareroot	\$5.40	\$7,711.20	\$5.44	\$7,768.32	\$5.50	\$7,854.00	\$5.50	\$7,854.00	\$8.00	\$11,424.00	\$5.45	\$7,782.60	\$17.00	\$24,276.00
102	N7E0014	556	Each	Planting, Arrowwood Viburnum (Viburnum Dentatum)	\$18.20	\$10,119.20	\$18.50	\$10,286.00	\$18.00	\$10,008.00	\$18.00	\$10,008.00	\$18.00	\$10,008.00	\$19.70	\$10,953.20	\$35.00	\$19,460.00
103	7.00E+56	5,714.00	Each	Planting, Arrowwood Viburnum (Viburnum Dentatum), Bareroot	\$4.00	\$22,856.00	\$4.13	\$23,598.82	\$4.00	\$22,856.00	\$4.00	\$22,856.00	\$6.00	\$34,284.00	\$5.80	\$33,141.20	\$17.00	\$97,138.00
104	7E20MUL	3,969.00	S.Y.	Wood Chip Mulching	\$4.00	\$15,876.00	\$4.00	\$15,876.00	\$3.50	\$13,891.50	\$4.00	\$15,876.00	\$3.60	\$14,288.40	\$4.95	\$19,646.55	\$5.00	\$19,845.00
105 106	7N00005 7N00011	392,194.00 652,735.00	S.Y.	Bedding for Reforestation Topsoil Amendment	\$0.75 \$1.70	\$294,145.50 \$1,109,649.50	\$0.15 \$1.70	\$58,829.10 \$1,109,649.50	\$0.75 \$1.20	\$294,145.50 \$783,282.00	\$0.75 \$1.50	\$294,145.50 \$979,102.50	\$0.29 \$1.25	\$113,736.26 \$815,918.75	\$0.80 \$3.05	\$313,755.20 \$1,990,841.75	\$0.85 \$2.00	\$333,364.90 \$1,305,470.00
107	7N00010	4	Acre	Invasive Vegetation Removal	\$5,350.00	\$21,400.00	\$12,000.00	\$48,000.00	\$5,500.00	\$22,000.00	\$2,500.00	\$10,000.00	\$4,000.00	\$16,000.00	\$8,900.00	\$35,600.00	\$6,250.00	\$25,000.00
108	7N00006	9	Each	Tree Snags	\$400.00	\$3,600.00	\$500.00	\$4,500.00	\$400.00	\$3,600.00	\$400.00	\$3,600.00	\$800.00	\$7,200.00	\$415.00	\$3,735.00	\$475.00	\$4,275.00
109	7N00020 7N00012	4,833.00	Each C.Y.	Brush Piles Leaf Litter	\$535.00 \$27.00	\$2,140.00 \$130,491.00	\$500.00 \$15.00	\$2,000.00 \$72,495.00	\$500.00 \$13.00	\$2,000.00 \$62,829.00	\$600.00 \$26.00	\$2,400.00 \$125,658.00	\$250.00 \$27.00	\$1,000.00 \$130,491.00	\$550.00 \$27.50	\$2,200.00 \$132,907.50	\$625.00 \$34.00	\$2,500.00 \$164,322.00
111	8C21MLR	1	L.S.	Maintenance and Protection of	\$5,350.00	\$5,350.00	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00	\$22,000.00	\$22,000.00	\$25,000.00	\$25,000.00	\$15,000.00	\$15,000.00
112	8C22MLR	1	L.S.	Traffic on Location No. 1 Maintenance and Protection of	\$5,350.00	\$5,350.00	\$1,000.00	\$1,000.00		\$2,000.00		\$5,000.00	\$22,000.00	\$22,000.00	\$25,000.00	\$25,000.00	\$15,000.00	
	J J L L III L I I	'		Traffic on Location No. 2	\$0,000.00	\$5,555.55	ψ.,σσσ.σσ	ψ1,500.00	Ψ=,000.00	ψΞ,000.00	ψ0,000.00	ψ5,555.50	 ,000.00	4_2 ,000.00	\$20,000.00	\$20,000.00	ψ.ο,οοο.οο	\$10,000.00

Base Lir	Base Line Item Detail			C. Abbonizio Contractors Inc.		Agate Construction Co., Inc.		A. Servidone Inc and B. Anthony Const Corp JV		D'Annunzio & Sons, Inc.		Vollers Excavating and Construction, Inc.		d Joseph Defino Trucking Co, I		Caruso Excavating		
113	2M00023	1	L.S.	Debris Removal and Disposal, Hazardous Material (This is a NO- BID, Lump Sum item for this contract. The Lump Sum Unit Price is \$15,000. Enter a Unit Price of \$15,000 as your bid for this item.)	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.0
				Base Total		\$7,048,461.52		\$7,138,687.03		\$7,523,331.25		\$8,167,000.00		\$9,934,000.00		\$12,492,682.15		\$12,838,060.0